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QUESTION 1

You are asked to create a user that will access programmatic endpoints in Oracle Cloud Infrastructure.
The user must not be allowed to authenticate by username and password.

Which two authentication options can you use? (Choose two.)

A. PEM Certificate file

B. Auth tokens

C. API signing key

D. Windows password

E. SSH key pair

Correct Answer: BC

QUESTION 2

You have an application deployed in Oracle Cloud Infrastructure running only in the Phoenix region. You were asked to
create a disaster recovery (DR) plan that will protect against the loss of critical data. The DR site must be at least 500
miles from your primary site and data transfer between the two sites must not traverse the public Internet. Which is the
recommended disaster recovery plan?

A. Create a new virtual cloud network (VCN) in the Phoenix region and create a subnet in one availability domain (AD)
that is not currently being used by your production systems. Establish VCN peering between the production and DR
sites.

B. Create a DR environment in Ashburn. Associate a DRG with the VCN in each region and create a remote peering
connection between the two VCNSs.

C. Create a DR environment in Ashburn and provision a FastConnect virtual circuit using DRG between the regions.

D. Create a DR environment in Ashburn. Associate a dynamic routing gateway (DRG) with the VCN in each region and
configure an IPsec VPN connection between the two regions.

Correct Answer: A

QUESTION 3

Which two options are true for Autonomous Transaction Processing (ATP) database? (Choose two.)
A. You can add/remove Diskgroup in ATP

B. You can scale storage up or down in ATP

C. You can scale CPU up or down in ATP
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D. You can add more Pluggable Database for consolidating multiple databases in ATP
E. You can add new ORACLE_HOME for bringing older versions of on-premises databases to ATP

Correct Answer: BD

QUESTION 4

Which two are required parameters to create a public load balancer instance? (Choose two.)
A. certificate

B. load balancer name

C. listener

D. back end set

E. two public subnets

Correct Answer: DE

Reference https://docs.cloud.oracle.com/iaas/Content/Balance/Concepts/balanceoverview.htm

QUESTION 5

You are running your warehouse using Autonomous Data Warehouse (ADW) service and you noticed that a newly
configured batch job is always running in serial even through nothing else is running in the database. All your jobs are
configured to run with parallelism enabled.

What could be the reason for this batch job to run in serial?

A. The batch job depends on only one table and parallelism cannot be enabled on single-table queries.

B. The parallelism of batch job depends on the number of ADW databases involved in the query.

C. The new batch job is connected to LOW consumer group.

D. The new batch job runs on database tables that are not enable for parallel execution.

E. Parallelism on the database is controlled by the application, not the database.

Correct Answer: C

QUESTION 6

Your company is moving an Internet-facing, 2-tier web application into Oracle Cloud Infrastructure. The application must
have a highly available architecture.

Which two design options would you consider? (Choose two.)
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A. Configure a Dynamic Route Gateway in your VCN and make it highly available.

B. Configure a NAT instance in your Virtual Cloud Network (VCN). Create a route rule by using the private IP of the NAT
instance as a route target for all the private subnets in your VCN.

C. Create an Internet Gateway and attach it to your VCN. Deploy public load balancer nodes into two Available
Domains.

D. Place all web servers behind a public load balancer.

Correct Answer: BC

QUESTION 7

Which service is NOT supported by Oracle Cloud Infrastructure CLI?
A. load balancer

B. compute

C. database

D. block volumes

Correct Answer: D

Reference: https://docs.cloud.oracle.com/iaas/Content/APIl/Concepts/cliconcepts.htm#services

QUESTION 8

Which two resources reside exclusively in a single availability domain? (Choose two.)
A. compute instance

B. block volume

C. object storage

D. groups

E. virtual cloud network

Correct Answer: AB

QUESTION 9
Your organization has deployed a large, complex application across multiple compute instances in Oracle
Cloud Infrastructure (OCI). These compute instances also have block volume storage attached to them.

You want to create a time consistent backup of these block volume storage.
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Which implementation strategy should be used?

A. Create a manual backup of each volume

B. Use scripts available in OCI to backup block volume storage

C. Group volumes in a volume group first and then use available scripts in OCI

D. Group volumes in a volume group and create a manual backup of the volume group

Correct Answer: B

QUESTION 10
Which two statements are true about policies?
A. You can use read, write, manage, and inspect as verbs for defining a policy.

B. A policy is a document that specifies who can access which Oracle Cloud Infrastructure resources that your company
has, and how.

C. Users need not do anything but still have to be added to a group with appropriate policies defined.
D. You can deny access to a group via policies.
Correct Answer: BC

Reference https://docs.cloud.oracle.com/iaas/Content/Identity/Concepts/policies.htm

QUESTION 11

You currently manage an e-commerce application that utilizes 25 identical compute resources to handle customer
traffic. The stakeholders have asked you to create another 25 identical compute resources in order to deploy and test a
new version of the software? What is the most efficient process to create 25 additional compute resources that are
identical to the first 257

A. Create a custom image from 1 of the 25 servers. Use this custom image to provision 25 more servers

B. Create a manual backup of each boot volume belonging to the 25 servers. Restore each backup to create 25 new
boot volumes, from which you will provision 25 more servers

C. Provision a new server and configure it to be identical to the first 25. Create a custom image from the new server,
then use the custom image to provision 24 more servers

D. Clone the boot volume of 1 of the 25 servers. Use the boot volume clone to provision 25 more servers

Correct Answer: A

QUESTION 12

You have created a public subnet and an internet gateway in your virtual cloud network (VCN). The public
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subnet has an associated route table and security list. However, after creating several compute instances
in the public subnet, none can reach the Internet.

Which two are possible reasons for the connectivity issue? (Choose two.)

A. The route table has no default route for routing traffic to the internet gateway

B. There is no stateful egress rule in the security list associated with the public subnet

C. There is no dynamic routing gateway (DRG) associated with the VCN

D. There is no stateful ingress rule in the security list associated with the public subnet

Correct Answer: AC

QUESTION 13

How can you provide users access to an existing compartment?

A. by granting users access to a compartment when the compartment is created

B. by adding users to a group and defining a policy to provide the group access to the compartment

C. by adding users to a compartment. All users in the compartment will have access to the objects in the compartment.
D. by granting access directly to the user when the user is created

Correct Answer: B

QUESTION 14

At the end of a terraform apply operation, what is the default output?

A. nothing by default

B. statistics about what was added, changed, and destroyed

C. the entire state file

D. statistics about what was added, changed, and destroyed, and the values of outputs
Correct Answer: D

Reference: https://www.terraform.io/intro/getting-started/outputs.html

QUESTION 15

In which two ways does Oracle Cloud Infrastructure (OCI) file storage (FSS) differ from OCI object storage and block
volume services? (Choose two.)
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A. Block volume service is NVMe based, while FSS is not

B. Object storage and block volume services offer default encryption, but FSS does not

C. Afile system is created within an availability domain, whereas object storage buckets exist at the region level
D. FSS uses the network file system (NFS) protocol, whereas block volume uses iSCSI

Correct Answer: CD

Reference: http://storageconference.us/2018/Presentations/Beauvais.pdf
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